
039220 EFG Product development

The product contains one or more 

of following materials: Metal, plastic, 

wood, fabric, foam.

Hybe

For more information, please visit efg.se.

ASSEMBLY INSTRUCTION 039220

Position the armrest(s) by sliding  

them into the tubes underneath  

the seat(s).

Assemble the armrests/side tables

Secure them by screwing the M6x20 

mm screws through the tubes into 

the armrest(s), 4 screws/armrest.

Assemble the armrest top(s) 

by screwing the M6x20 mm screws in the 

T-nuts from underneath. NOTE! If you are 

adding screens, don´t tighten the screws 

until the screens are added.

1(2)



Continue assemble the 

side 

screens. Assemble the 

zipper in the corner and 

fasten the screen brackets 

with the M6x20 mm screws 

into two T-nuts underneath 

the armrest top and two 

tapered holes in the metal 

part. There are clearence 

holes in the armrest tops 

for these screws.

Finish the assembling by tightening the screws for the armrest tops.

Hybe assembly

Assemble the screens

Fasten the brackets onto the 

screens with the countersunk 

M6x20 mm screws. Two brackets 

for the side screens and two or 

three for the back screen.

Start to assemble the back 

screen. Use the M6x20 mm 

screws into the T-nuts under- 

neath the armrest tops.

Zipper

2(2)


